
TABLE OF CONTENTSTABLE OF CONTENTSTABLE OF CONTENTS

Copyright © 2016 The Continental Press, Inc.

Excepting the designated reproducible blackline masters, no part of this publication may be reproduced 
in any form or by any means, electronic, mechanical, photocopying, recording, or otherwise, without 
the prior written permission of the publisher. All rights reserved. Printed in the United States of America.

Introduction –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  3

Format of Books –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  4

Suggestions for Use –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  7

Annotated Answer Key and Extension Activities –  –  –  –  –  –  –  –  –  –  –  9

Reproducible Tool Set –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  –  – 175

ISBN 978-1-5240-0020-2

FL Georgia Milestones Math G5 ATE_FM.indd   2 1/19/16   3:43 PM



© The Continental Press, Inc.  DUPLICATING THIS MATERIAL IS ILLEGAL.UNIT 4120

Objective
To solve word problems involving division and fractions

Introduction1PA
RT  Introduction

Show students that they can use what they learned 
in Lesson 25 to solve word problems. Work through 
the two sample items as a class, discussing how to 
find the dividend and the divisor in the word problem. 
Then perform the division to solve the problem.

Think About It 
Students should recognize that the commutative 
property does not pertain to division. In multiplication, 
factors can be in any order and the product is the 
same. In division, the dividend and the divisor cannot 
be switched; the answer will change.

PAGES 206 AND 207
26  � Word Problems with  

Division and Fractions

Georgia Standard of Excellence
MGSE5.NF.7  Apply and extend previous 
understandings of division to divide unit fractions 
by whole numbers and whole numbers by unit 
fractions.
  7c. � Solve real world problems involving division 

of unit fractions by non-zero whole numbers 
and division of whole numbers by unit 
fractions, e.g., by using visual fraction models 
and equations to represent the problem.

$40 is separated into quarters
40

​ 1  4 ​
​ 1  4 ​

4 or ​ 4  1 ​

40 3 ​ 4  1 ​

160
1

160

40 4 ​ 1  4 ​
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Focused Instruction2PAR

T

 Focused Instruction
First, students must solve a word problem by dividing 
a whole number by a unit fraction. Students must 
recognize that a quarter is ​ 1  4 ​ of a dollar and that 
they must divide 40 by ​ 1  4 ​ to find the total number 
of quarters. Next, students solve a word problem by 
dividing a unit fraction by a whole number. Again, 
they must recognize which number is the dividend and 
which is the divisor based on the situation in the word 
problem. Students will divide by multiplying by the 
reciprocal of the divisor.

Conclude the Focused Instruction section by having 
students solve two word problems using division.

Guided Practice3PAR

T

 Guided Practice
Students should complete the Guided Practice section 
on their own. Offer assistance as needed, pointing out 
the reminder and hint boxes along the right side of 
the page. 

PAGES 208 AND 209
LESSON 26  �WORD PROBLEMS WITH 

DIVISION AND FRACTIONS

Connections to Standards for 
Mathematical Practice

•  �Make sense of problems and persevere in 
solving them.

•  Reason abstractly and quantitatively.
•  Attend to precision.
•  Look for and make use of structure.
•  �Look for and express regularity in repeated 

reasoning.

50 4 ​ 1  8 ​ 5 ​ 50  1  ​ 3 ​ 8  1 ​ 5 ​ 400  1  ​ 5 400

35 4 ​  1  4 ​

​ 1  8 ​ 4 12

​ 1  8 ​ 3 ​  1  12 ​

​  1  96 ​ mile

400

​  1
  112 ​

140

​ 1  8 ​
12

​  1
  12 ​

1
96

​  1
  85 ​

300

The sidewalk is divided into smaller sections.
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Independent Practice4PAR

T

 �Independent Practice  
Answer Rationales

	 1	� PART A  Divide the total length by the number 

of students, so ​ 1  
20

 ​ 4 66. To divide the fraction, 

multiply by the reciprocal of 66: ​ 1  
20

 ​ 3 ​ 1  
66

 ​ 5 ​  1
  

1,320
 ​.

PART B  Divide the length of yarn each student was  

given, ​  1
  

1,320
 ​ mile, by 3 to find the length of each 

piece: ​  1
  

1,320
 ​ 4 3. Multiply the fraction by the 

reciprocal of 3, so ​  1
  

1,320
 ​ 3 ​ 1  

3
 ​ 5 ​  1

  
3,960

 ​. Each piece 

measured ​  1
  

3,960
 ​ mile long.

	 2	� In choice A, the equation incorrectly divides the 
time of the song by the total time. In choice B, the 
equation incorrectly divides the time of the song by 
the total time and writes the reciprocal incorrectly. 
Choice C is correct. The student divided the total 
practice time by the time of the song. Choice 
D is also correct. The student divided the total 
practice time by the time of the song and solved by 
multiplying by the reciprocal of the divisor. In choice 
E, the equation incorrectly divides the time of the 
song by the total time. In choice F, the equation 
divides the total practice time by the time of the 
song correctly, but incorrectly multiplies the whole 
number by both the numerator and denominator of 
the reciprocal. Choices C and D are correct.

	 3	� In the first situation, multiply by the reciprocal of ​ 1  
6
 ​:  

3 4 ​ 1  
6
 ​ 5 3 3 ​ 6  1 ​. In the second situation, divide 

the 10 lasagnas into pieces of ​ 1  
9
 ​: 10 4 ​ 1  

9
 ​. Multiply 

by the reciprocal of ​ 1  
9
 ​, or 9: 10 3 9. In the third 

situation, divide ​ 1  11 ​ of the packet of construction 

paper evenly among 22 students, so ​ 1  11 ​ 4 22. 

Multiply by the reciprocal of 22, so ​ 1  11 ​ 3 ​ 1  
22

 ​.

PAGES 210 AND 211
LESSON 26  �WORD PROBLEMS WITH 

DIVISION AND FRACTIONS

DOK 2 
MGSE5.NF.7c

DOK 2 
MGSE5.NF.7c

DOK 2 
MGSE5.NF.7c

6

1

1 1

10 10 9

22

1

9

11 22

​  1
  1,320 ​

​  1  20 ​ 4 66 5 ​  1  20 ​ 3 ​  1  66 ​ 5 ​  1  1,320 ​

The length of ​  1  1,320 ​ was cut into 3 pieces, so I divided ​  1  1,320 ​  
by 3: ​  1  1,320 ​ 4 3. To divide, I multiplied by the reciprocal of 3,  
so ​  1  1,320 ​ 3 ​ 1  3 ​ 5 ​  1  3,960 ​. Each piece is ​  1  3,960 ​ mile long.
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	 4	� PART A  Divide the amount of butter and sugar 

by 4: ​ 1  4 ​ 4 4; ​ 1  
2
 ​ 4 4. To divide, multiply by the 

reciprocal of 4: ​ 1  4 ​ 3 ​ 1  4 ​; ​ 1  
2
 ​ 3 ​ 1  4 ​. There would 

be ​ 1  
16

 ​ cup of butter and ​ 1  
8
 ​ cup of flour used in 

each pan. 

PART B  Divide each of the amounts by 4: ​ 1  4 ​ 4 4;  

​ 1  
8
 ​ 4 4. Multiply by the reciprocal of 4, rather than 

dividing by 4: ​ 1  4 ​ 3 ​ 1  4 ​ 5 ​ 1  
16

 ​; ​ 1  
8
 ​ 3 ​ 1  4 ​ 5 ​ 1  

32
 ​. To 

compare the fractions, compare the denominators 

because the numerators are the same: 32 . 16, 

so ​ 1  
32

 ​ , ​ 1  
16

 ​. There is more baking soda in each pan.

PAGE 212
LESSON 26  �WORD PROBLEMS WITH 

DIVISION AND FRACTIONS

Extension Activity
Write four situations similar to those used in item 3  
in the Independent Practice on the board. Have 
students write the division number sentence for the 
situation, using a box for the unknown. Then have 
them write the equivalent multiplication sentence and 
solve for the unknown. They should explain what the 
answer to the quotient means in each situation. Use 
the following situations or create your own:

1. � 6 pounds of cheese packaged in ​ 1  
3
 ​ pound 

packages [18 packages of cheese]

2. �​  1  5 ​ gallon of milk poured evenly into 4 glasses  

[​ 1  
20

 ​ gallon of milk in each glass]
3. � 14 feet of ribbon cut into ​ 1  

8
 ​-foot pieces  

[112 pieces of ribbon]

4. �​  1  
16

 ​ of a bag of cat food split between 4 cats  

[​ 1  
64

 ​ of the bag for each cat]

There would be more baking soda. I divided both the baking 
soda and salt by 4 and found that there was ​  1  16 ​ tsp baking 
soda and ​  1  32 ​ tsp salt in each pan. The fraction ​  1  16 ​ is greater 
than ​  1  32 ​.

Butter: ​  1  4 ​ 4 4 5 ​ 1  4 ​ 3 ​ 1  4 ​ 5 ​  1  16 ​
Sugar: ​  1  2 ​ 4 4 5 ​ 1  2 ​ 3 ​ 1  4 ​ 5 ​ 1  8 ​

​  1
  16 ​

​ 1  8 ​

DOK 2 
MGSE5.NF.7c

FL Georgia Milestones Math G5 ATE_U4.indd   123 1/19/16   2:47 PM


